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Which of the following exercised the most profound
influence in framing the Indian Constitution ?

(A)  British Constitution

(B) U.S. Constitution

(©)  Trish Constitution

(D) The Governmentof India Act, 1935

Village Panchayath is organized under which
article of the Constitution of India ?

(A) Article37

(B) Article38

(©)  Article39

(D)  Article40

Among the following which agency conducts
election to the local bodies ?

(A) National Election Commission

(B}  State Election Commission

(O) Localbodies themselves

(D)  The Government

Who appoints the chairman of the Finance
Commission ?

(A)  ThePresident

(B)  Prime Minister

(©  Council of Ministers
(Dy  Vice President

The President can’t Lok Sabha.
(A)  dissolve

(B) adjourn

(©  prorogue
(D)  summon

All speeches made in the House of People are
addressed to:

(A)  The Prime Minister

(B)  TheSpeaker

(©) Minister for Parliamentary Affairs

(D)  Respective Ministers
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12.

13.

14,

15.

O

Which writ is issued by a High Court or the Supreme
Court to compel an authority to perform a function
that it was not performing ?

(A)  Writof Certiorari

(B)  Writ of Habeas Corpus

(©  Writof Mandamus

(D)  Writof Quo Warranto

First woman judge to be appointed to Supreme Court
was :

(A} RaniJethmalani

(B) Anna George Malhotra

(©)  M.Fathima Beevi

(D)  LeilaSeth

Who is the Chief Law Officer of India ?
(A) Secretary, Law Department

(B)  Attorney General

(©)  Advocate General

(D)  Solicitor General

Which one of the following statements is true ?

(A Anantecedentright is a remedial right

(B) A perfectright does not prescribe any remedy
(C) A positiverightindicates a negative duty

(D)  Proprietary rights are valuable rights

Consider the following statements :

(i)  The object of the legislation is to apply the
law

(i) Legislation has both creative and abrogative
powers

(iii) Custom is generally based on the will of the
people

Of the above statements :

(A) (D, (ii) and (iii) are correct

(B) (i) and (ii) are correct

©) (ifyand (iii} are correct

(D) (i) and (iii) are correct
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22, Assertion (A): A person in possession of a
thing is deemed to be the owner
of the thing possessed.

Reason (R): Possession is as good as

ownership.

(A)  Both{A)and (R) are true and (R} is the correct
explanation of (A)

(B)  Both(A)and (R) are true but (R) is not a correct
explanation of (A)

©  (A}istrue but (R) is false

Dy (A)isfalse but(R) is true

23. It is one of the cardinal principles of delegated

legislation that the legislature should not delegate

to a subordinate above body the power to make rules

on

(A)  technical matters of the law

(B)  the policy matters of the law

(©)  thematters of inclusion or exclusion of areas
of the subject

(D) the date of commencement of a statute

24,  While digging the foundation of a building the

labourers found a bronze statue belonging to the

pre-Christian era. The possession of the statue is

claimed by the owner of the land. Which one of the

fallowing could be an appropriate ground for the

claim of the land-owner ?

(A} The labourers are employees of the
owner-working under his control

(B)  The owner has the corpus of the land and
has the right indefinite

(C)  The owner has the right to exclude all others
from control over the statue and has, therefore,
a priority recognized by law

(D)}  The owner is assumed to have intended to
control all that which lies under the piece of
land he owns
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29,  Which of the following is not held to be a quasi-

judicial function ?

(A)
(®)
©

)

Determination of citizenship

Disciplinary proceedings against students
Determination of disqualification of membets
of parliament

Anorder of preventive detention

30.  Which of the following functions are permissible

delegations ?

(A) Future Acts

(B)  Imposition of tax

(O Supplying of details

(D)  Ouster of jurisdiction of court

31.  Which of the following is right definition of the

phrase Nemo judex in causa sua ?

(&)

(B)

©
©)

no man is capable of rendering judgement

on himself

no man shall be a judge in his own cause

no man can punish himself
proper justice can be done if the judge is
related to the party

32.  Which of the following statements are faise ?

@)

(if)

(i)

(iv)

(A)
(B)
©
D)

The Public Corporation can be sued in the
court of law

Public Corporation is not ‘State’ under
Art. 12

The dactrine of ultravires is applicable to

public corporations

Servants of the government company are civil

servants under article 311 of the constitution
(1), (iv) are false

(ii) and (iv) are false

(ii) and (ii1} are false

None of the above
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37.

38.

39.

The accused “A” inorder to evade arrest was holding
B against her will and was using her body as a
shield. He fired a shotgun at the police officer who
also returned the fire in which B was killed. Which
of the following should be the right step of the Court
on the question of causation ?

(A)  The Court must convict the accused ‘A’

(B) The Court must direct the Police inquiry
officer to make sure that the accused A’ fired
the first shot

{©)  The Police officer must be convicted for the
murder of B

{OY  Both(Bjand(A)

‘House-trespass’ in order to the commission of an
offence punishable with imprisonment for life, is

dealt under which of the following sections ?

(A)  Section 448 of IPC
(B)  Section 449 of IPC
(©  Section450of IPC
(D) Sectiond51ofIPC

A had an argument with B and asked her to goand

leave him alone. He asked her to go home. Brefused
to leave the place. ‘A’ struck her on the head.and
rendered her unconscious. A dragged B to the
parking lot during which B's head hit the pavement
which caused her death. Which of the following

statements is correct ?
(A}  Aisnotresponsible for her death as that was

not the intent

(B)  Ais only responsible for assaulting her

(© A is responsible for B's death as the death

was caused due A’s negligence

None of the above statements is correct

)
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‘A R gt @ o= o foe ' B I SWET g1
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Frefafean § 9 fRa Fa w22
(A) ATH T ¥ fou foer 76 ¢ «bite o
T ST TR o
(B) A %ad 39 WA 1 & oy fardem &
@ A, B Hd F fou fawier & #biftE i A =t
AR & HRT §E off
(D) ST H W R FuT w7
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In a certain case in Delhi the accused ‘A’ proposed
marriage of his son with the daughter of another
gentleman ‘B’. The daughter was pregnant with
someone else’s child. This fact was not concealed
from the accused. However the accused concealed
the fact that his son was suffering from a mental
disorder. The gentleman married his daughter to
the son of the accused and there after he came to
know about the mentle disorder of the accused’s
son. Pointout which of the following is correct
option.
(A) ‘A’ Cannot be held guilty because the
gentleman’s daughter was also at fault.
(B) ‘A’ is prima facie guilty of cheating due to
the element of wrongful gain involved
(©) ‘A’ Cannot be held guilty as it was also the
duty of the gentleman to ascertain complete
facts concerning the would be bridegroom

(D)  None of above statements is correct

One Mrs. Komal ‘X’ bought a car in the name of her
daughter. Kiran, who was a minor. ‘X’ got
insurance policy transferred in her name (Mrs.
Komal). The car met with an accident on counts
and ‘X’ filed for a claim on both the counts ie.
damage to the car and injury to her body from the
insurance agency. She acknowledged the receipt of
the money as Kiran. The insurance company
prosecuted Mrs. Komal under Section 423 the IPC
alleging fraud on the appellant’s part. Which of the
following statement is correct option ?

(AY  Mrs. Komal is guilty of forgery because she
made the insurance company believed that
she was Kiran

(B)  Mrs. Komal is not guilty of forgery because
the said deceit did not secure her any
advantage as the entire transaction was that
of Mrs, Komal

(@  Mrs. Komal is puilty of forgery because she
signed all the papers in the name of Kiran

(D) Both(A)and (C)
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47. In which of the following cases, the person/
authority is not liable for wrongs of absolute
liability ?

{A) When X, the husband of the plaintiff was
crossing the railway track, he was knocked
down by a passing engine and he met
instantaneous death. X had a monthly ticket
and he was going to get the ticket renewed.

(B) A person goes into a railway station to take
delivery of his goods and gets injured.

(©) A dancer voluntarily attended rehearsals in
a theatre with the permission of a theatrical
company in the hope that she will be engaged
by the latter, however she got injured there.

(D) Alady went to look after her neighbour’s sick
wife at his request at his residence but she
gets injured there.

48.  In qualified privilege, the defendant is entitled to
make a statement even though it is false and
defamatory unless the plaintiff proves express
malice. Point out which is not a qualified
privilege ?

(A} Statement made by a Police Officer while
investigating a Crime.

(B)  Inquiry made by a prospective employer from
the previous employer as to a servant’s
character.

(C)  Statementmade by a host to his guest warning
him against his servant for his dishonesty.

(D)  Publishing Reportof/ proceedings in a Court
of Justice.
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50.

A Police constable seeing the door of the defendant’s
warehouse open after dark, entered the warehouse
in execution of his duty in order to see that
everything was right. He fell into a sawpit inside

and got injured.
The following arguments are raised.

(i  The Police constable enetered the premises
inexecution of this duty to check if there was
any wrong so warehouse owner is laible for

contributory negligence.

()  The Police constable was neither a licensee
nor an invitee in the premises by the owner
hence the owner is not liable for contributory

negligence.

{iif) The defendant owner was not under any
duty to warn the Police constable of a danger

in the premises hence he is not laible.

Decide whether there was contributory negligence

and which of the following options is more

cosrect ?

(A)  Only (i)
(B)  Only (i)
(©  Only (i)

(D} Both (ii) and (iii)

51. Point out which of the following statements is
correct ?
(AY  Libelis acivil wrong but slander is a Criminal
offence.
(B)  Bothlibel and slander are criminal offences.
(C)  Libelis both civil wrong and criminal offence
but slander is only a criminat offence.
(D)  Libel is both a civil wrong and a criminal
offence but slander is a civil wrong only.
127-LAW - 11
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Which one of the following is not the correct position

after recognition of a State ?

(A}  Thecourts of the recognizing state give effect
only to those executive acts and legislation
of recognized state which are made after
recognition and not prior o recognition.

(B)  Therecognized State becomes entitled to sue
in the courts of the recognizing state.

(©) Therecognized state is entitled to sovereign

immunity in the courts of recognizing state.

(D) The recognized state is entitled to the
succession and possession of its property

situated in the recognizing state.

Which of the following is not a well established
principle of International Jaw for extradition of an
accused person ?

(A) Persons accused of political and religious
crimes are not extradited.

(B) - Afterextradition, the receiving state must try
the accused for that specific offence for which
extradition was sought.

(©)  The specific offence for which extradition is
sought, may not necessarily be an offence in
the state from which accused is extradited.

(D}  There should be sufficient evidence for the

crime for which extradition is requested.

Extra-territorial Asylum is a Controversial matter,

however, the States may grant extra territorial

asylum in classified cases for some period. Pointout

in which of the following cases even temporary

asylum can not be granted ?

(A)  Asylum in Diplomatic Embassies

B)  Asylum in Consular Premises

(©) Asylum in the Premises of International
Institution

(I Asylum in merchant vessels
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Article 2 of the United Nations Charter describes

the principles of the United Nations. Pointout which

one of the following principles is not given in the

Article 2 of the Charter ?

(A) The principle of Sovereign equality of all
members

(B)  Peaceful Settlement of International Disputs
among members

(©) Liberty of members in giving assistance to
the United Nations in any common
enforcement action by the United Nations.

(D) Non intervention in Domestic Matters of
Member States.

Which of the following statements is a correct

option?

(A) The commissien of Human Rights was
established by the Security Council in 1948,

{(B) The commission of Human Rights was
established by the General Assembly in 1946.

() The commission of Human Rights was
established by the Economic and Social
Coungcil in 1946.

(D) The commission of Human Rights was
established by the Trusteeship Council in
1948.

The Universal Declaration of Human Rights was

adopted by the General Assembly in the year
which has been hailed as a victory of

individuals in respect of human rights and the

Declaration has Articles.

Fill up the blanks in the above mentioned statement

out of the following in order:

(A)  Year 1948; 30 Articles

(B)  Year 1946; 40 Articles

(©)  Year 1948; 40 Articles

(D) Year 1950; 30 Articles
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60.

61.

62.

I T AL T ATe0E 2 WY T o Fagial 1
o9 T B 3fa o fefafeg d 3 wR W@
fagia St s 2 W 9l fem & 2

(A) Tt Tl H HYY YA S fagia
B weE F T e faard e wifayl T

© O g R ot gl yad wier A
G T H! Waa@ <7 H TSR 1 &0

(D) H=E T 3 Te] Ael B STEa

frefetag ¥ 9 39 @ wes wa Heeg 82

(A) TSR ST & TTa 1948 F e IR
BRI I TE o)

(B) WISIEHR STERT Thi TG 1946 H W
BRI & T off

©  AFEIfgRR SR ¥ TN 1946 § a1 iR
I qiE g T i

(D) WFEYHR STER A TG 1948 § =nfaa
TRuE EW & T off |

TR 1 Wi ST S Jerme grR oy
Y g o1 R aEEue &

Hey W =fwdEl 91 S % w9 wifed o g

drggd IR R

e Tl & § S wuR B @relt e R HAH

|

(A) = 1948; =T 30
(B) T 1946; T[T 40
(© % 1948; ST 40
(D) T4 1950; STET 30

P.T.O.
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65.

Right to Work has been recognized by the
International Covenant on Economic, Sociat and
Cultural Right, 1966 under Article 6(1}. It has
become part of Indian Constitution. Point out the

correct option.

(A)  Itis partof fundamental Rights under Part ITI

of Indian Constitution.

(B)  Itis partof Directive Principles of State Policy
Under Part IV of Indian Constitution.

(C)  Itis part of both Part [II and Part IV of the
Indian Constitution

(D}  Allthe above option are not correct

“Human Rights” have been defined very specifically
by the Protection of Human Rights Act, 1994. Point
out under which of the following Sections,

definition of "Human Rights has been laid down ?

(A}  Section2(a)of the Act
(B)  Section2(c) of the Act
() Section 2(d) of the Act
(Y Section 2(b) of the Act
67. Divorce in 2 Hindu marriage puts an end to the
marital rights and obligation between the parties,
the statement is
(A)  Troe
{B) False
{C©) Partlycorrect
(D)  Partly incorrect
68. Bigamy laws are not applicable to:
(A) Hindus
B) Muslims
(&  Sikhs
D) Jains
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65.

66,

67.

68.

FH T F AET F FITE 6(1) & TEG A,
Hrforer 2R e SRl W s wEiEE],
1966 B A= & T B @R ¥w vwdia i
e w9 mn B Fr=faten § w6 fowes =i $fa
L1yl
(A) I uNGE 9fgur % 9F 01 % qen s
arferpml =1 T 5

I IRAE WfEae™ & 9 IV ¥ q8d 9 &
Hifa freers fosial = fawm £

(B)

(C) T8 I WS % W I ST ST IV 8
v
O) IR g fawer w8 59 T

ety & diam sfgiagd, 1994 g1
“qrenfaesid ' w1 wga fafvre w2 @ wfewfia fean
T ¥t Frafafas § @ o am & ted  arafier’

1 wirnn Freifa w0 w2
(a) RN % A 2()
® sfaftEe & 92
©  sTafEE % 9w 2(d)
Oy i & 9w 2(b)

fewg forome W e B9 W Sarfesh TRl @1 o7 3R
YYER F Hey U} Sl o A B S E 1 9%
HYT :

(A) TIE

|®) FAegE

© it
) ifE sme R

T5fam® (Bigamy) wafag fafy fm & & fam m
JrEl Tl gt ?

& &g
® Hhem
© foTa
o) S

P.T.O.




74,

75.

76.

77.

Who is a Muslim ?
(A}  a person who has faith and believe in one
God and the prophethood of Mohammad

(B)  a person who wears shervani and a long
beard

(©  Who sings Sufi-Bhajans

(D)  Who does not consume meat

Which ane of the following is not termed as Primary

source of Muslim Law ?
(A) Quran

(B) Sunna/Adhis
© Ima

O Gazals/Kavwali

Which one of the following is not essential to a valid

Muslim marriage ?

(A)  Theparties to the marriage must be competent

(B)  Itisthere that the Bride must be beautiful

(O The consent of the parties or of their
guardians must be a free consent

(D} Therequired formalities must be completed
and the parties must not be in prohibited
degrees

Goods displayed in a super market with a price tag
is:

(A)  proposal

(B) offer

({©)  invitation to offer

(D) agreementimpliedly

78. The “Doctrine of frustration” under the Indian
Contract Act, 1872 relates to .
(A}  Section 56
(B) Section 66
(O) Section 46
(D)  Section 34
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74.

75.

76.

77.

78.

qafem e E?

(&) o8 =afe N FIA UF God/HeeUE |
Hrerre wifed & fagidl &t e s §

(B) TE W HIg YRAMT i el Zre Ty

© &S gw TS TE T B
(D) % S WG 1 I9HR T2 @i

T o = atem fafy =% 9o ol | winfeg 1@
&7

Ay TN

® e
©

D) TS weEred

e o 9 97 W o IV (valid) qEfaw foam &

s g W 8 7

(a) Toom & 9 gerEr waE B

(B) 9% (Bride) STEYHF ¥4 § Gl B |

(© OESR &1 W wealt ¥ s Ui w
i )

(D) owEvas s w 9fd 1 o & aw
e g (degree) HAE |

YR WEHE | T (Goods) T 291 FH HIHA-FE3H,
£

(A T

B sl

© A e
@) TEnfage wweia

sty wifaer stfafierg 1872 3 o1 Sova =1 fagra
fFg a4 gmlem B2

(A) HTI56
(B) HRI66
© U046
(D) w34

P.T.O.
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82.  Thesales and Goods Act was enforced on:
(A) 15t May 1930
®) 15t March 1930
(©) 15 July 1930
(D) 1% June 1930
83. What is partnership at will ?
(A)  Created under a will by Testator
(BY  Created by consent of all partners
(©)  Partnership without provision for duration
(D)  None of the above
84. The transferee of a Negotiable Instrument is the
one:
(A)  Who transfers the instrument
(B) Onwhose name itis transferred
(©) Who encashes it
(D)  Who keeps the instrument
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83.

84.

AT T st aifforem fra & frw femies @ wamstty
S g3T o ?

(A)  17%1930

(B) 15T 1930

© 1 1930

Oy 13[1930

To31 W 3Mefed arieRt 1 7 2

(A)  Testator (SFEaEFal) BRI U (F=51) will
e e

@) it wrieRl =t wWipfa ® gl

(Q  wrieR foed wriiel o6 sy 61 ey 5
El

O) IR A

fortdt ft WA (Negotiable Instrument) S&T&S %
TR T Sl 58 Bl € ¢

(A) i THE H TG B S
@) 5EF T R erwaiE wa g
(© i SHe 3HY A §

) N TEIAT P @A L

P.T.O.
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89.

90.

As law stands today, which one of the following is
not workman asper LD. Act 1947 ?

(A) Professor of Law in the University of

Rajasthan (U of R)

(B)  An electrician in the University - Engineer

office

(© A ‘printer’ working in the Raj University
press
(D) A Gas Mechanic in the Maharaja’s College

Which one of the following is not “Trade Dispute”
as per Trade Union Act 1926 ?

(A)  Dispute between employee and employee
(B}  Dispute between employer and employee
(©  Dispute between employer and employer
(DY  Dispute between employee/ workman and

student

91.  Select the one which is not a method of settling
dispute under the I.D. Act, 1947 .
(A)  Conciliation
(B)  Arbitration
(O  Adjudication (settlement through court)
(D)  Settling of I. Dispute by way of Lottery
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90,

91.

a1 1 o, fafy § fr Q@ wF i faar
Afufram, 1947 %GENT{ Er'w'ﬂfr'w"l'\"(workman)EF?I goft
&S

(a) TRy fa. fa. ¥ wria fafa-meards

favafaame™ stfya=n wdiadg ¥ H1E@
Tofaefaaa

(B)

© . fa faenes geone § s e

(D) HERIST hicra § Hraed 19 Hehfeh

e @y it 1926 % ea B W g

(point) Te-fevge & ¢ ?

(a) FHIN AR HHIN F e faarg

@) i o w9 faer

© e iR e % S e
(D) FHaRI o ferdt famell & o= fau

39 o = T it i i sieifie faare sifufam

1947 3 SR 91 78 ¥ 2
(A) Yoe
® d=fiE

© = ol (e g
(D) wieh ushi g it e =t gegm

P.T.O.
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96.

97.

98.

99,

Which one of the following is oldest law of

environmental protection in India ?

(A) wild life protection Act
(B) River Board Act

(©)  Factories Act

(D) Indian Easement Act

How many sections are there in the Environment
(Protection) Act, 1986 ?

(A 26
(B) 54
© 64
®) 86

Who said it ? “Nature provides for each need of

Humans but not for un necessary lust” ?

(A) GeorgeBarnard Shaw
(BY Mahatma Gandhi

(©) Tolstoy

(D)  Walter M. Sirala

Which of the following facts provides for centre and

state joint Boards for protection of environment ?
(A)
®)
(©  Water (pollution & control) Act, 1974

D)

Environmental protection Act, 1986

Air (pollution & control) Act, 1981

Sound (pollution & control) Act, 1981

100. Which is not included in green - gases ?
(A)  Sulpher Di-oxide
(B) Clorofloro carbon
(© Methane
(Dy  Carbon Di-oxide
-00o-
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96.

97.

98.

99,

100.

aRd ¥ -1 ifufTan vatere g & TrEy o
T & ?

(A) T e e Aty
®) F&-aE srfufEm
(©  =rEm s
(D) wRdE gEeR sfafwm

JofeREr (HEw) St 1986 H Fol et v
g2

(A) 26
® 54
© 64
@) 86

“gFfd % U AFE S TAE SATIshal S qfd 8

wate HHeE €, g deea # ofd 3 w1 - 9®
fRgm FuAE?

(A) IS S

(B) TR TR

© TwEE

(D) are Ty, fren

= 4 9 - il e AR T s (vatam
T BY) BT SHA FLAT G ?

(A)  TEiETe e sTytTem, 1986
(B) =g (vgwu wd fmr) srfufrad,1981
© v (yguwr us frisre) sfafrem, 1974
() & (wguu e fgser) sifufam, 1981
= o 9 R I wew WA i w g2
(A) TR THE-FFES
(B)  FRITAR! FlelT
© T
(D) A SHAFRIES

-00o0-

P.T.O.



